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Solve the system of equations using substitution.

@= % = x + 3
X2 =x+3 Substitute x? for y
Xt -x-3F Move everything to one side
—b+VbZ = 4a:——madmh Formula.
= a1 bou V3
2a
1+ V(-1 - 4(1)(-3 Solve inside the square root
2(1) Multiply on the bottom.
1263 —» 1/3=23 1-f3=-13 Solve
2 2 2
y=x
y=(23)=53

Plug in both values for x to find y
y=(-13¢=17

Put your answers as (x,y)
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Solve the system of equations using substitution.
O3 gy 3

x2-3x = 3x Substitute x? - 3x fory
Move everything to one side

—b +vVb? = 4ac Formula.

= 0
2a
6 +V/[-6) - 4(1)(O Solve inside the square root.
2(1) Multiply on the bottom.

6436 --» 6:\38=6  6-M36:0 Solve

2 2 2
y = x?-3x
y=(6)*-3(6)=18 Plug in both values for x to find y

y=(0¢-3(0)=0

Put your answers as (x,y)
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Solve the m of equations using substitution
=y~ 3 y=2%)3

y=2(y-3)-3 Substitute y? - 3 for x
y=2y’-6-3 Move everything to one side
0=2y?-y-9

—b + Vb2 — 4ac Use thOQuadratickprmula

™ b1 c:z-9
2a ¢
1+ - 49 Solve inside the square root.
2(2) Multiply on the bottom
1273 —» 1n73=24  1-J73=-19 Solve
4 4 4

Plug in both values for x to find y

Put your answers as (x,y)
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Solve the system of equations using substitution.

voxo g
V5 Isolate the x by moving the

yand -5

2y +5)+2y=16  Replace xwithy?+5
27410427216 Simplify

2yt 2y-6:0 Move everything to one side
Use the Quadratic Formula
—b +Vb* — 4ac
_— az2 b:2 -6
2a
-2+ J@F - 4)6) Solve the square root
22) Multiply the bottom

(-2+JB2)/2= 13 (-2-J52)/2=-23 Solve

x=y2+5 Plug each y value to find x

x=(13)¢+5=67 6.7,13)
x=(-23¢+5=103 103, -23)





